Docket #2312 Date Filed: 12/27/2013

#### IN THE UNITED STATES BANKRUPTCY COURT FOR THE NORTHERN DISTRICT OF ALABAMA SOUTHERN DIVISION

In re:	)	
	)	
JEFFERSON COUNTY, ALABAMA, a	)	Case No. 11-5736-TBB-9
political subdivision of the State of	)	
Alabama,	)	Chapter 9 Proceeding
Debtor.	)	-
	)	
	)	

#### SUPPLEMENTAL AFFIDAVIT OF SERVICE (REDACTED)

I, Jennifer Grageda, a non-attorney, certify that on December 26, 2013, I caused to be served per postal forwarding address the following documents via First-Class Mail upon the service list attached hereto as **Exhibit A**:

- Notice of Hearing to Consider Approval of Disclosure Statement Regarding Chapter 9 Plan of Adjustment for Jefferson County, Alabama (Dated June 30, 2013) [Docket No. 1829]
- Notice of (I) Approval of Disclosure Statement, (II) Confirmation Hearing on Chapter 9 Plan of Adjustment, and (III) Procedures and Deadlines Regarding Confirmation of the Plan [Docket No. 1979]

Additionally, I certify that on or before December 26, 2013, I caused to be served per postal forwarding address the following document via First-Class Mail upon the service list attached hereto as **Exhibit B**:

• Notice of (A) Entry of Findings of Fact, Conclusions of Law, and Order Confirming the Chapter 9 Plan of Adjustment of Jefferson County, Alabama (Dated November 6, 2013); (B) Occurrence of the Effective Date; and (C) Certain Deadlines Under the County's Confirmed Plan [Docket No. 2274]

Dated: December 27, 2013

Kurtzman Carson Copsultants LLC

Claims and Noticing Agent 2335 Alaska Avenue

El Segundo, CA 90245 Telephone: (310) 823-9000

State of California, County of Los Angeles

Subscribed and sworn to before me on December 27, 2013, by Jennifer Grageda, proved to me on the basis of satisfactory evidence to be the person who appeared before me.

WITNESS my hand and official seal.

Signature: Notary Public

ROSS BERNSTEIN
Commission # 2013582
Notary Public - California
Los Angeles County

1105736131227000000000000

## **EXHIBIT A**

### CONFIDENTIAL INDIVIDUAL CREDITORS

# FILED UNDER SEAL PURSUANT TO ORDER ENTERED APRIL 16, 2012

[Docket No. 915]

## **EXHIBIT B**

## Exhibit B Creditor Matrix - First-Class Mail

CreditorName	CreditorNoticeName	Address	City	State	Zip	Country
Permal Stone Lion Fund Ltd.	Attention Claudia Borg	c/o Stone Lion Capital Partners L.P.	555 5th Ave Fl 18	New York	NY	10017-9253
Permal Stone Lion Fund Ltd.	Attention Claudia Borg	Stone Lion Capital Partners L.P.	555 5th Ave Fl 18	New York	NY	10017-9253
Permal Stone Lion Fund Ltd.	c/o Stone Lion Capital Partners L.P.	555 5th Ave Fl 18		New York	NY	10017-9253
Permal Stone Lion Fund Ltd.	Stone Lion Capital Partners L.P.	Attention Claudia Borg	555 5th Ave Fl 18	New York	NY	10017-9253
SL Liquidation Fund L.P.	Stone Lion Capital Partners L.P.	Attention Claudia Borg	555 5th Ave Fl 18	New York	NY	10017-9253
Stone Lion Portfolio L.P.	Attention Claudia Borg	555 5th Ave Fl 18		New York	NY	10017-9253
Stone Lion Portfolio L.P.	c/o Stone Lion Capital Partners L.P.	555 5th Ave Fl 18		New York	NY	10017-9253
Uniforms2U		11846 Burgreen Rd		Madison	AL	35756-4124

### **CONFIDENTIAL INDIVIDUAL CREDITORS**

# FILED UNDER SEAL PURSUANT TO ORDER ENTERED APRIL 16, 2012

[Docket No. 915]